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Solving Quadratic Equations, Quadratic Formula 
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Algorithm 

 
1. Place everything on one side, zero on the other side. 
2. Label a, b and c 
3. Substitute into the Quadratic Formula 

 
Example            Solve by the Quadratic Formula  2x2  =  5x + 2  
   
  1.    2x2 – 5x – 2 = 0 
  2.    a = 2,  b = – 5 and c = –2 

  3.     𝒙 = 	$($𝟓)± (($𝟓)𝟐$𝟒(𝟐)(–𝟐))
(𝟐)(𝟐)

 
 
  								𝒙 = 	 𝟓	± 𝟐𝟓,𝟏𝟔

𝟒
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Solve using the Quadratic Formula 
 
1.     2x2 + 7x + 3 = 0  2.     x2 – x = 20  
 
 
3.     6x2 = x + 2  4.     8x2 + 2x – 3 = 0 
 
 
5.     x2 + 7x + 12 = 0  6.     10x2 = 2 – x   
 
 
7.     8x2 + 2x – 1 = 0  8.     4x2 = 11x + 3 
 
 
9.     2x2 + 15x – 8 = 0  10.    2x2 = 5x + 3 
 


